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Final Examinations COLLEGE Winter 2002

from previous terms INTRODUCTION TO ALGEBRA
(MATHEMATICS 201-007/00)
1. Simplify. Give answer®nly with positive exponents. 6. Fortheline with equation3z — 6y = 12
(a) find thez-interceptthey-interceptandtheslope.
6r—1)2(2p—4)—1 2a2p3\ 2 (b) sketchits graph.
(@) 8 +2(3)° oy G @) (“ )
r5(r2)—3 ab—2 . . .
7. Give anequatiorof theline
2. Performtheindicatedoperation(spndsimplify. (a) with slope—32 andpassinghrough(2, —4).
(b) passinghroughthepoints(—1, —2) and(—4, 7).
@) 5(5t+1) —t(t — 2) (b) (4 + 3y)(2x — 7)) (c) passinghroughthepoint(—1, 1) andparallelto 2z — y = 2.

3 — 3% + 8y — 6 (d) passinghroughthepoints(—1, —2) and(—1, 7).

(©) (a+2)(a% —4a+1) (d) . . . .
-1 8. Performtheindicatedoperationandwrite your answelin lowestterms.
(Uselongdivision)
@ 2 +3x+2 22 — ®) y2 -1 ;—y2+3y—2
3. Factorcompletely 42?2 —dz+1 20 + 522 + 6w 2% +3y+1 2% —3y—2
(@) 2a2 4+ 2ab+ 3a + 3b (b) 6y%2 — 17y +5 1 1 1—1
C — d &
(©) 923 + 1242 + 4 d) =4 — 16 © o712 @ 1
4. Solwethefollowing equations. z
. do + 2y =2
9. Solwethelinearsystem:
@ 72z +1) =6(22 —9) (b) 3y(y% +6y+9)=0 y { —x+y=-5
(©) 3 -5z = 8a? (d) 25y% = 20y 10. Performtheindicatedoperation(sjndsimplify your answer Do not give
© 3m —2 _ 4—m 0 dx _ 12 decimalanswers.
15 ) 3 . 3 = @) V6m2n3 - 15mn (b) 3./27 —2,/12
© T () (#+2)* =25 (© (2v2+v3)(v/2+23) (@ (6v/3+ /5)(6v/3 — v/5)
i 2 . . . t—9
M) 22 4z +3 11. Rationalizethe denominatoof Jits
5. Using algebraictechniquesand defining variables, solve the following
problems. 12. Useyour calculatoywith 4 decimalplaceaccurag, to find:
(a) cos31° (b) tan72° (c) sin 2?"

(a) If 12 is subtractedrom threetimesa numbey andthe differenceis

multiplied by 2, theresultis —42. Find thenumber 13. AABC hasarightangleatC. If ZA = 23° andsideb = 10, find sidea.

(b) A family ocfjfourvl/ri]th a’??”&'i’:\”comeor $2650]csp?2f1$5%|0f its 14. Usethelaw of sinesto find sidea if /B = 35°, ZC = 82° andside
incomeandsavestherest. Find theannualsavingsfor this family. =T
(c) Findtwo pairsof consecutie odd integerssuchthattheir productis
onelessthanfour time their sum. 15. Usethelaw of cosinedo find a if £A = 32°, sideb = 6 andsidec = 7.
ANSWERS
3 1 3 (b 1 z—1
1. (a)3, (b) 1873, (c) yPETSL 5. (a)zr = )—3, (()$795)0, (¢ ——1 (d) 1
() (7,9) and(—1,1).
2. (@) —t? + 27t + 5, (b) 8z2 + 2xy — 3y2, . . . (2,5
(@)—t%+ 27t + 5, (b) 827 + 2wy — 3y 6. (a)z-intercept:(4, 0), y-intercept:(0, —2), 9 (2,-3)
(c)a® — 242 — Ta + 2, (d)y? — 2y + 6. slope: L. 10. (a)3mn2v/10m, (b) 5v/3,
3. (2)(2a +3)(a +b), (0) (2y — 5)(3y — 1), (b) y ()10 +5/6, (d) 103,
© z(3z +2)2, (d) (z — 2)(z + 2)(z2 + 4). 11 vt=3
@z=2,-1,d)y=0, 2 (m="1, 13. a~ 4.24
__3 5 _ ~
(o ==3,(9)z=3,(h)z=3,-7, 7 Ea))yfgzigéy)(b)yfl—i%w—& 14. a~ 6.3
C)y = 2x s = —1. ~
0 %(2 +,/10). Y i 15. a =~ 3.71
8. @, -1,

2z —1)(z + 3)



